C:# |dentify Linear Functions (Table) Name:

Determineif the table shown representsalinear function (yes) or not (no). Answers
D) |Y=-X+5 2) | Y=X?+6 3 |v=A/X +6
X |lY X1|Y X Y L
-10 | 15 -10| 106 1] 7
8 [13 2] 10 > | 7.414 &
4 11 -9 | 87 3| 7.732
510 3|15 5 | 8.236 3
r]-2 9|87 6 | 8.449
4.
5.
4) Y:'\/X_ 5 |y=-X 6) |y=x-8
<1 v XY x|y 6
1]1.000 414 6/-14
2| 1414 7|7 9|-17 !
412,000 2]-2 5|-3
82828 5|-5 6]-2 8
9]3.000 919 810
9.
10.
7) ——— 8 |Y=-X-8 9 |y=n/X32 .
x| v 1Y S ¢ |
2| -6 -1 1.000
-8 | 7.874 ZIBT "
> 1414 9] 1 3 [ 2236
3 | 2646 2 1-10 8 | 3.162
2 3722 6|-14 9 | 3.316
10) | y=x% 11) 12) Y=
Y=X%6 v X2
XY —— Ax27
3] 3 -8 | 8.000 X| Y
6 | 30 6 16.000 8 | 7.550
9 | 8.602

1-10 | 9283 75|67 [58[50] 4233|2517 |
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C:# Identify Linear Functions (Table) Name: Answer Key

Determineif the table shown representsalinear function (yes) or not (no). Answers
) [Y=x+5 2) [v=x*6 3 |y=vX +6 yes
X|Y X|Y X Y L
-10 | 15 -10/ 106 1| 7 o
8 [13 2] 10 > | 7.414 &
4 11 -9 | 87 3| 7.732 10
510 3|15 5 | 8.236 3
7 | -2 9 | 87 6 | 8.449
4. no
5. YES
4 | y=a/X 5 |Y=X 6) |Y=X-8 e
<1 v XY x|y 6 y
1| 1.000 4| 4 6|-14
2 (1414 7|7 9|-17 b no
42.000 2|-2 5| -3
32828 5|-5 6| -2 8. PASS
9[3.000 99 8]0
9, no
10. no
7) 8) |y=-x-8 9 |ver/xa2
Y= X2-2 < v Y=V X+2 11. no
< v X| Y
2| -6 ;
8 | 7.874 =T 1] 1.000 12 no
2 | 1414 91 1 S | 2.236
3 [ 2646 2110 8 | 3.162
4 | 3742 o]-4 9 | 3316
10) | y=x% 11) 12) Y=
Y=X%6 v X2
XY —— Ax27
3] 3 -8 | 8.000 X| Y
6| 30 T 2000 -3 | 1414
2| -2 2 3,000 10 | 9.644
6 | 30 6 16.000 8 | 7.550
9 | 8.602

1-10 | 9283 75|67 [58[50] 4233|2517 |
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